2. MIPAS Daily Report for level 2 products summary report
(See mipas_daily_report_level2_ ML2PP_7_03_W_20070327.html for a detailed report).
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e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value
Report version v1.11 26-05-2015
Time of report generation 28APR2016 15:33:57
Data source version ML2PP/7.03-W
Processing scope for products 27MAR2007 00:00:00 to 28MAR2007 00:00:00

Start time of first product within scope |27MAR2007 07:22:38
Stop time of last product within scope |27MAR2007 07:26:34
Total number of level 2 products 1
Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err|Number of scans (tot/proc) |Quality summary warnings
MIP_NL__2PWDSI20070327_072238_000002362056_00407_26513_1000.N1|27MAR2007 07:22:38 | 27MAR2007 07:26:34 |0 4/4

o

2.2 Processing performance indicators
2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 4 4 100.00
H20 4 4 100.00
03 4 4 100.00
HNO3 4 4 100.00
CH4 4 4 100.00
N20 4 4 100.00
NO2 4 4 100.00
F11 4 4 100.00
CLNO 4 4 100.00




N205 4 4 100.00
F12 4 4 100.00
COF2 4 4 100.00
CCL4 4 4 100.00
HCN 4 4 100.00
F14 4 4 100.00
F22 4 4 100.00

Murmber af successful retrievals vs, geclocation (x=day side |, triangle=night side).
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.

Termperature [K] Temperature standard deviation [K]
it T T T 270,80 A T T T 1.B00
or T — er ’ 1 7 1,603
260.0

60 — - 80 o 1.400F 7
= 2E0.0F A =
= 5ot - = 5ol - 1.200F 1
m m
T Ta
= =
£ a0 = 240.0F 1 S aor o 1.000F 1
= =]
o m
o >
& @
JE 3 = JE o = 08000 F 4
s 2303 =

20 = 20 . 0,005

220.0
10 = 10 - 2 0.4000
o | ] | 210.0 o | | | 02000
=100 —ab 0 8] 100 —100 —al 0 ol 100
LOS lakituds [degrees_north] LOS lakitude [degrees_north]

2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.



HZO0 wmr [pprny] HZO wmr standard deviation [ppmy]
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.

LS lakitude [dcgrcn:s_n-c- rf.h]
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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MNZ0 wmr [pprov] MZ0 wmr standard devigtion [ppmy]
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This section shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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MZ05 wrr [ppmv]
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HCM v [ppry] HCM wimr standard deviation [pproy]
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Temperature [K] for pressure 100.0 kPa
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Timz [atart of day]
CCL4 wrnr [pprewv] far pressure 190.0 hPa
1.0 : 5 :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq
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Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
D 00,00 (010,010 000,00 000,00 {000, O Q0:00.00 03 061,
37712 /2006 11,701 /2007 26,/01,/2007 10,702 /2007 25 /02 /2007 12/03,/ 2007 27 03 /2007

Tirn= [El’tu:lrt of dﬂ}"]



HCM wmr [pprav] for pressure 100.9 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&
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Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
37718 /5006 11701 /2007 26,01 /3007 107032 /2007 25,702 /2007 12,703 /20057 27 03,2007

Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq
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Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
D 00,00 (010,010 000,00 000,00 {000, O Q0:00.00 03 061,
37712 /2006 11,701 /2007 26,/01,/2007 10,702 /2007 25 /02 /2007 12/03,/ 2007 27 03 /2007

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [pprrv] for pressure 100.0 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —BS to —20 deg
m [3-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tn E:I dEE
SRk : : : &0 to 90 deg
a
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0.8

Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
57 /12 75006 11/01 /2007 26,401 73007 10,703 /2007 25 /02 /2007 18,/03 75007 27 /03 /3007

Timz [atart of day]
Temperature [K] for pressure 10,0 RPa
260 : ; :

25C

240
= (a0 ta —50 deg
+ he%—B0 to —BS deg
_m, 230 —BS to —20 deg
. [F-51-20 ta 20 deg
= 20 to 85 dag
g 220 ——E5 to 30 dag
= &0 to 90 deqg
&

]
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205

190

000,00 04,00 O000.00 a0 ;00,00 Q000,00 Q000,00 ;00,00
27/12,/2006 11,/01 /2007 26/01,/2007 10,/05,/2007 25,/02,/2007 12/03/3007 27 f03/2007
Timz [atart of day]



Tangant altitude [km] for pressure 10.0 hPa
-33 g E '

31

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg
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Oz 2, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
H2O wrnr [ppry] far pressure 19.0 hPa
B0 T : .

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

Caily averaga [ase title]

4.0

0030, G 00,00 D000, 00 a0 :D0.00 Q500,00 D0 30,00 ;00,00
57,/12 /5006 11,701 /2007 26,461 /a007 10,708 /2007 2512 /2007 12,/03/5007 27 /53,2007
Tirz [atart of dayv]




Caily average [zee title]

03 vmr [ppmy] for pressure 1000 hPa
12 g E '

1.55%535% ..................... EEEE;:FEEEEEEE.EEE] ................ .é ............................ ............................ é.

Cer 5 5
: I h——0o0 tn —E0 deg
ale P _ - wede] [EH—B0 tn —B5 deg
e : ‘ ; Meh, | egl| [e-m5to -20 deg

EHE1—2C to 20 deg
20 to &5 deq

&5 to 80 deg
B0 to 90 deg

o

Caily avaraga [Eee t'ltla]

2
O 1, 00 00 a0,00 s AN 000,00 800, 00 Q00000 Q00,00
37 /12 /9006 11,01 /2007 26/01,/2007 10,/02,/2007 25,/02 /2007 12/03/3007 27 /03 /2007
Time= [atart of day]
HMO3 wmr [ppry] for pressure 10.0 hPa
2007 : : :
BTN TR .: .................
; H——00 tn —E0 deg
2005 e —B0 tn —B5 deg
: N —4—B5 tg —20 deg
: [F-E1-7C ta 20 deg
J 20 to 85 deg
............................ - : : aalil | [ rBR:aA0.day
Sl : ' o : iy e EO to 90 deg
E _|,.+\++
s .;,’._ ‘{}(—:I'-?T e WX
ﬂ.ﬂﬂ}% ....... .E[E"'\-.S( E
EEH i EIEE-EHEI ; :
£.002 ' '

0030, G 00,00 D000, 00 a0 :D0.00 Q500,00 D0 30,00 ;00,00
57,/12 /5006 11,701 /2007 26,461 /a007 10,708 /2007 2512 /2007 12,/03/5007 27 /53,2007
Tirz [atart of dayv]



CH4 wmr [ppmy] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
——0 to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

Caily averaga [==s title]

0.8
Oz 2, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
M2 vrnr [ppryv] far pressure 19.0 hPa
0.25 : :

020

=
in
&

=
=
=]

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

Cally oiverage [see tltla]

s E ; WESCR % . v |

0.0

0030, G 00,00 D000, 00 a0 :D0.00 Q500,00 D0 30.00 ;00,00
57,/12 /5006 11,701 /2007 26,401 /a007 10,708 /2007 2512 /2007 12,03/ 5007 27 /53,2007
Tirz [atart of dayv]




Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa

o010

O.008

o008

O, 004

0,002

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg
B0 to 90 deg

O, 008
D0:00,00) 00:00,00 O0:00,00 00:00,00 (000,00 0050000 00:00,00
57 A0 7500 11,/01 /2007 26,701 /3007 10,00 /9007 25,/02 /23007 18,703 /3007 o7 /33,2007
Time= [atart of day]
MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa

0.018 ; ; ;

O014

£.012
H——00 to —E0 deg

L.018 b3 B0 to —BS deg
=05 to =20 deg

e [F-E1-2C to 20 deg

20 to &5 deg

B4 to 30 deg

0,006 B0 to 00 deg

o004

0.002

O, 008

00z 20, 240 000,00 D00, 00 000000 0o:00, 00 Q0 0L O 0 00,00
57 42 /5000 11,/01 /2007 26,61 /3007 10,05 /9007 285,/02 /2007 18,/03 /3007 o7 fa3,/2007

Tirz [atart of dayv]



Daily averaga [ase titla]

Daily averaga [ase titla]

F11 vmr [ppmy] far pressure 10.0 hPa

P e
41070
H——00 ta —E0 deg
Jx10" [ —B0 ta —B65 deg
F—G5 to —20 deg
[F-E1-20 ta 20 deg
20 to &5 deq
&5 to 80 deg
5.
A0 80 to 00 dag
1%107"
o
Oz 2, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
CLMO vmr [ppmy] faor pressure 10.0 RPa
00014 : ; :
0.0012
0.0010 H——00 to —E0 deg
B0 ta —BS deg
=G5 to =20 deg
e [F-E1-2C to 20 deg
x 20 to &5 deg
B4 to 30 deg
B0 to 00 deg
05006
00004
00002
00z 20, 240 000,00 D00, 00 000000 0o:00, 00 Q0 0L O 0 00,00
57 £10 F5006 11701 /2007 26 /01 73007 10,7003 /2007 25 /012 /2007 12,/03 /5007 27 03 /2007

Tirz [atart of dayv]




MZDE vmr [pprmy] for pressure 10.0 hPa

Tirz [atart of dayv]

0.0030
0.0025
'g‘ 0.3028 H——00 ta —E0 deg
= %80 to —B5 deg
B, —4—B5 ta —20 deg
m S [F-E1-20 ta 20 deg
= 20 to 65 dag
& 65 to 80 dag
= B0 to 90 deg
& 0.0010
00005
00000
Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 D0z 00 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
F12 vmr [ppmy] far pressure 10.0 hPa
Zox1p™ : 5 :
25x107
'g zoxip h—+—o0 ta —E0 deg
* B0 tn —B5 deg
i =05 to =20 deg
W [F-E1-2C to 20 deg
= 20 to &5 deg
5 65 to A0 deg
= B0 to 90 deg
& 102107t
5.0x107 |
o
00z 20, 240 000,00 D00, 00 000000 0o:00, 00 Q0 0L O 0 00,00
57 £10 F5006 11701 /2007 26 /01 73007 10,7003 /2007 25 /012 /2007 12,/03 /5007 27 03 /2007




35«07

30x1o~s

COFZ wmr [pprv] for pressure 10.0 hPa

Tirn= [El’tu:lrt of dﬂ}"]

T 25107 (a0 ta —50 deg
e [ —B0 tn —BS deg
2 4—B5 to —20 deg
B [F-E1-20 ta 20 deg
g 20 to 85 deg
: ——E5 to 30 dag
= &0 to 90 deqg
& 152107
1.0x707
LB v
Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
37718 /5006 11701 /2007 26,01 /3007 107032 /2007 25,702 /2007 12,703 /20057 27 03,2007
Timz [atart of day]
CCL4 vmr [pprev] far pressure 19.0 hRa
25x107" : ; :
2.0%107F
Z 1519 (o0 ta —B0 deg
o e B0 tn —B5 deg
B, —&—B5 to —20 deg
m o 1.0x1e™ G20 to 20 deg
s 20 to 85 deg
z 65 to 80 dag
= B0 to 90 deq
&  50x1ph
o
—5.051078 . : ; : , :
oz 2, 20 00 00,00 D00, 00 Q000,00 00:00, 00 s 0L O 0 0,00
27/12 /2006 11701 /2007 26/01,/2007 10,702 /2007 25/02 /2007 12703 /20057 27 f03 /2007




HCH wrr [pprov] for pressure 10.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _Eﬁ tn EG dEE
SRk ' ; : &0 to 90 deg
&

0.2

0.8

Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
37718 /5006 11701 /2007 26,01 /3007 107032 /2007 25,702 /2007 12,703 /20057 27 03,2007

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
1.0 T : r
B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
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.

Caily averaga [ase title]
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L : : : : : :

(TR A 00 0,00 D00, 00 (000,00 (000, 00 000,00 000,00
SF 252006 11,01 /2007 26,/01 /2007 10,/0F /2007 25/02 /2007 12,03 /2007 27 fo3 2007

Tirn= [El’tu:lrt of dﬂ}"]



Caily avaraqa [eee title]

20107

1.5x107

10107

L3P L

F22 vmr [ppmy] far pressure 10.0 hPa

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0 to —20 deq
EE1-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

o
—5.0x107
Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
57 /12 75006 11/01 /2007 26,401 73007 10,703 /2007 25 /02 /2007 18,/03 75007 27 /03 /3007
Timz [atart of day]
Temperature [K] for pressure 1.0 hPa
2940 / : T

8o

260

Gaily averaga [ase titla]

-

20

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0G to —20 deq
EE1—-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

740

230

O 00,050 (0: 00,00 O0E00.00 000,00 100, 00 Q0:00.05 (0% 00,010
37 /12 75006 11,701 /2007 26,01 73007 10,7012 /2007 25 /02 72007 12,/03 /50057 27 f03 /2007

Timz [atart of day]
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Caily avaraga [Eee t'ltla]

42

Tangent altitude [km] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

D0:00,00 (¢: 00,00 O0:00,00 000000 (000,00 O0:00.00 000,00
57 12 /5006 1,701 /2007 26,01 /3007 10,702 /2007 25,/02 /2007 12/03 /2007 27 /63,2007

B2

Caily averaga [ase title]
~ ~
[ tn

i3]
n

B0

o=

Time= [atart of day]

HZC wimr [pprmy] far pressure 1.0 hPa

o

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

D500, 0¢: 00,00 DO:00.00 000050 (800,00 O0:00.00 0C: 00,00
57 12 7500 11,701 /2007 26,01 /3007 10,702 /2007 25,/12 /3007 12403 /2007 27 /632007

Tirz [atart of dayv]




Daily averaga [ase titla]

4.5

4.0

e
tn
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Caily averaga [==s title]

03 wmr [ppmy] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

25| E Y s
; e ¥
et ' H +'|‘""H- :
LT . E
Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
HMOZ wmr [pprav] for pressure 1.0 hPa
00012 : ; ;
0.0010
0.2008 H——90 ta —E0 deg
B0 ta —BS deg
=G5 to =20 deg
i [F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deg
05004
0002
00000
00z 20, 240 000,00 D00, 00 000000 0o:00, 00 0 0L O 0 00,00
57 £10 F5006 11701 /2007 26 /01 73007 10,7003 /2007 25 /012 /2007 12,/03 /5007 27 03 /2007

Tirz [atart of dayv]




Caily average [zee title]

0.7

CH4 vmr [ppmy] for pressure 1.0 hPa

Caily averaga [==s title]

H—+—aC ta
[+ —B0 to
4 —B5 to
FE1—-20C ta

—E0 deg
—65 deg
—20 deq
20 deg

20 to &5 deq
&5 to 80 deg
B0 to 90 deg

(¢: 00,00
1,701 /2007

O0:00,00
26,01 /3007

a0 :00.00
10,708 /2007
Time= [atart of day]

(000,00
25,/02 /2007

O0:00.00
12/03 /2007

000,00
27 /63,2007

0.0
D0:00,00
57 12 /5006

0,020

D013

ta
o
=
=]

MEC vimr [ppryv] far pressure 1.0 hPa

Y

i

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

0,005 -2 W, o B T feeeonnn e SR k.
= A i T : | a |
T e o 1 ' g ' z
0.000 B8 K ol oskwo!  RORIT SO waor)  Jeuad  dopek | el sebaefeokoedir by o |
D000, 280 ;0000 Q000,00 00 ;00,00 0000, 00 O 00,00 0% 00,00
87 512 /5006 11,01 /2007 26501 /2007 10,/0% /2007 25700 /2007 12/03 /5007 o7 /03,2007

Tirz [atart of dayv]



MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

0.0007
0.0008
0.L00%
& [——a0 to —50 deg
= %80 to —B5 deg
.E. 0.0004 F—00 to —20 deq
o [F-E1-20 ta 20 deg
o
o 20 to &5 deq
5 0.0003 65 to 80 dag
= B0 to 90 deg
a
0.0002
0.3007
00000
Oz 2, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
57 A0 7500 11,/01 /2007 26,701 /3007 10,00 /9007 25,/02 /23007 18,703 /3007 o7 /33,2007
Time= [atart of day]
MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
0.018 ; : ;
O014
0.012
v i [——a0 tn 50 deg
= AE0AE b3 B0 to —BS deg
B =G5 ta —20 deg
e [3-E1—20 ta 20 deg
g 20 to 65 dag
= 65 to A0 deg
= 0008 B0 to 90 deg
a
o004
0.002
O, 008
00z 20, 240 000,00 D00, 00 000000 0o:00, 00 Q0 0L O 0 00,00
57 42 /5000 11,/01 /2007 26,61 /3007 10,05 /9007 285,/02 /2007 18,/03 /3007 o7 fa3,/2007

Tirz [atart of dayv]




Daily averaga [ase titla]

F11 wimr [ppmy] for pressure 1.0 hPo

1.0
o] TP ............................. ............................ oo ............................
= [——a0 to —50 deg
oo [ —B0 to —65 dag
B, ——85 ta —20 deg
m [F-E1-20 ta 20 deg
o
L 20 to &5 deq
) eccsssesespsesespsesesreth pssspepspspsespsesaspsre S - S S 65 io 0 deg
Sk : : : E0 to 00 deg
&
0.2
0.8
Oz 2, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L 00 0 00,00
37 £12 700 11,701 /2007 26,/01 73007 10,7003 /2007 25 /012 /2007 12,/03 /50057 27 f03 /2007
Time= [atart of day]
CLNO wmr [pprmy] for pressure 1.0 RPo
04012 : 5 : =
0.0010
0.2008 - H——90 ta —E0 deg
B0 ta —BS deg
=85 1o =20 deg
i [F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deg
05004
0002
00000
00z 20, 240 000,00 D00, 00 000000 0o:00, 00 Q0 0L O 0 00,00
57 £10 F5006 11701 /2007 26 /01 73007 10,7003 /2007 25 /012 /2007 12,/03 /5007 27 03 /2007

Tirz [atart of dayv]




Caily averaga [ase titla]

G000

0,008

00007

00008 (-

0.2005:

00004 |-

0,003

0.Con2

MZOE wvmir [pprmv] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=85 1o =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

0.5001

Oz 20, 240 D=0, 00 000050 o:00, 00
37 £12 700 26,/01 73007 10,7003 /2007 25 /012 /2007

Time= [atart of day]
F12 vmr [ppmy] for pressure 1.0 hPa

1.0 : : : :
T i
£ s
g OLB :
) 5
T :
o H
=] '
T :
Bl L eonssmmsomsasasnsogssnsasis Ty, . N — . .. W ————————
= :
B
(]

0.2

0.8

00z 20, 240 D00, 00 000000 0o:00, 00 0 00,00
57 £10 F5006 26 /01 73007 10,7003 /2007 25 /012 /2007 27 03 /2007

Tirz [atart of dayv]




Caily averaga [ase titla]

COFZ wmr [pprv] for pressure 1.0 hPa
0.0005 5 ! :

0.C004

0,000

00002

0,001

H—+—9C to —80 deg
[#—#—BC to —B5 deg

—65 1o —20 deg

FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

0.000s

—0,3007

—0,0002

O 1, 00 0o, 00 RS EAN Y ;00,00 800, 00 Q00000 0 00,00

57 /12 75006 11/01 /2007 26,401 73007 10,703 /2007 25 /02 /2007 18,/03 75007 27 /03 /3007
Timz [atart of day]
CCL4 wmr [pprrwv] for pressure 1.0 hPa

1.0 : ; :

b ............................. ............................ oo ............................
I (o0 ta —B0 deg
o b3 B0 ta —BS deg
K —B5 to —20 deg
m [F-E1-20 ta 20 deg
[=r]
= 20 to &5 deg
z 65 to 80 dag
= B B0 to 90 deq
&

0.2

0.0 - : - : - :

itz 1, 00 08 o, Do RHA AN 000,00 800, 00 Q0 00L00 s Tuli Rali]
57 /12 75006 11701 /2007 26,/01 72007 10,02 /2007 25 /02 /2007 12,03 /5007 27 03 /2007

Tirn= [El’tu:lrt of dﬂ}"]




HCM wrar [ppmv] for pressure 1.0 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&

0.2

0.8

Oz D, 2R 000,00 GHIREAN Y 000000 00, 00 IR IR 0 00,00
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Temnperature [K] for pressure 100.0 kPa

2440

N e o . e
SR e e

: : : ; : m +—+—8C to —80 deg
220, ........................................................ E——— ......................................................... o ,.:& ..................................................... | pe—B0 ta -68 deg

—G3 to —20 deg
[E1—-2C to 20 deg

. ? : i o i e 20 to 85 deg
I\X_ : f 5 i | F—B4 to 80 deg

]
—a
[l

Caily averaga [=== title]
=

T TN e : § ! EQ to 00 deg

510 [ A S .5 S W A b

190

D000 00 000,00 Q000,00 Q000,50 a:00, 00 000,00 A 00,00
27275008 11,01 /2007 26,/01 /2007 10,02 /2007 25/02 /2007 12/03,/ 2007 27 032007
Timz [atart of day]




Tangent altitude [km] for pressure 100.2 hPa

17.0

16.3

16.0

18.85

Cally cwverage [see titla]

15.0

14,5

1450

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

00,00
26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
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=R

4.5

=
(o

HZC vrar [pprew] for pressure 1909.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
»
K3 —B5 to —20 deg
T 3R [E1—-2C to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
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2.0 : : : - : .

D050, 00 00: 00,00 D000 Q000,00 Q00,00 O0:00.00 000,00
27712 /5006 11,01 /2007 26/01,/2007 10,02/ 2007 25402 /2007 12,/03 /2007 57 /03,2007
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O3 winr [ppmy] for pressure 100.0 hPa
2.5 : : :

o 1] DR TE T RTUOORRP e Py foomee e

+—+—8C to —80 deg
4= —BC to —BS deg
—G3 to —20 deg
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Daily averaga [=as title]

: : L | [FE-20 ta 20 deg
Lty i : 20 to 85 deg
b e b T T i e I s | 88 to 80 deg
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0.5 B VR o i 5 g e S RS 80
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Timz [atart of day]



Caily overage [see title]
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DLOTD [-omrmmmmmr e borramns s R R

Q.00 o -semmsoe s R e

L R e T R Ty St T
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ggebd b
____________ i T T o T e

HNOS wmr [ppeny] for pressure 100.0 hPa

C.008 Xf" ---------------------------- e ST e ---------------------------

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

00,00
26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
o7 FO3 2007




CH4 vimr [pprmw] far pressure 100.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



MNZC vrnr [pprew] for pressure 1909.2 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



Caily everage [see title]

25107

anx1o

1.5x107

10107

501078

F11 vmr [pprrv] for pressure 100.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

(00,40
11,781 /2007

00,00
26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
o7 FO3 2007



Daily averaga [=se titls]

CLNO wmr [ppmy] for pressure 100.0 kPa
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BLOEE | e .l: ............................ | ............................ : ............................ -. ............................ :
; : ; : i | f—+—90 ta -0 deg
3(—B0 ta —B5 deg
0.0008 : —B5 to —20 deg
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: ; : : : § 20 to 85 deg
OOO0E |- E. ............................ ;. ............................ E ..... _ﬂk_ ...... _r'_FE--i ........................... .E ............................ i L ES to A0 dEg
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Timz [atart of day]



Daily averaga [=se titls]

MNZCE wrnr [pprey] for pressure 100.0 hPa
0,0005 ; ; ;
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' : ' : : V| 80 to —80 deg
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Caily everage [see title]
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F12 vmr [pprrv] for pressure 100.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg
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57 12 006
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11,781 /2007
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26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]
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o7 FO3 2007



Caily average [see title]

COFZ wmr [ppmv] for pressure 100.0 hPa
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Daily averaga [=as title]
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D500
57 12 006

CCL4 vinr [pprov] for pressure 100.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




HCM wrr [pprov] for pressure 10002 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



F14 vmr [pprrv] for pressure 100.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
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57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



F22 vmr [pprrv] for pressure 100.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
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Temperature [K] for preasure 10.0 hPa
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260

240G
£} (90 to —50 deg
- - —B0 to —65 deg
m 230 —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
5 220 —— 65 to 0 deg
= &0 to 90 deq
A
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194 : ; : : : :

D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007

Timz [atart of day]




Tangent altitude [kmn] for pressure 1000 hPa
J& : 5 :

a1

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
o
o —B5 to —20 deg
= a0 [E1—-2C to 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= &0 to 90 deq
& 29

27 : : : ; : :
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27712 /5006 11,01 /2007 26/01,/2007 10,02/ 2007 25402 /2007 12,/03 /2007 57 /03,2007

Timz [atart of day]
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o
tn

H2Z wrnr [pprev] for pressure 190.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg
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2 20 to 35 deq
= —— 65 to 0 deg
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27712 /5008 11,481 /2007 26401 /2007 10,02,/ 2007 25,/02 /2007 12,703/ 2007 o7 FO3 /2007

Timz [atart of day]




Caily averaqa [eee title]

12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

001,090 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



HMO3 wmr [pprry] for pressure 1000 KPa

0,007
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ar (90 to —50 deg
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® —B5 to —20 deg
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5 20 to 85 deg
= o004 —— 65 to 0 deg
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-D.DDS% ....... EE]EEEEEE EEEEHEEEEEEEEEEEEEEE!E
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57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



CH4 wnr [ppmy] for pressure 10.0 hPa
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+—+—8C to —80 deg
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2
K3 —B5 to —20 deg
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2 20 to 35 deq
= —— 65 to 0 deg
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&
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iR : : : ; : :

Oz 30LCD Qi 00,00 AN Q00050 Q000,00 Q00000 0 00,00
27712 /5008 11,481 /2007 26401 /2007 10,02,/ 2007 25,/02 /2007 12,703/ 2007 o7 FO3 /2007

Timz [atart of day]




MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25

020

0,15

Cally cwverage [see titla]
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(ANALH

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

00,00
26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
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12,703 /50097

O 00,0
o7 FO3 2007




MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

01

O.008
o (90 to —50 deg
008 b B0 ta —65 deg
® ' —B5 to —20 deg
w [F-£1—20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.004 B0 to 90 deg
A

o002

000 : : : : : :

D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007

Timz [atart of day]



Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

o018
o014
0.012
a0 ta —E0 deg
0.010 % —B0 to —65 deg
—G3 to —20 deg
0.008 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
.00 80 to 80 deg
o004
£.002
0,005 ; : . : , :
D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
27 /1275006 11701 /2007 26/01 /3007 10,02, 2007 25,/02 /2007 1270372007 27 F03 /2007

Timz [atart of day]



F11 winr [ppmy] far pressure 10.0 hPa

S 107
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7 [—+—00 ta —B0 deg
g B0 to —65 deg
o —B5 to —20 deg
m [E1—-2C to 20 deg
m

= 20 to 85 deg

i

R —65 to 30 dag

= &0 to 90 deq

E

151078

o : H : H : H
D500 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

00014

02012

‘B 0.0010 [—+—a0 ta —EO deg
. % —B0 ta —B5 deg
o —B5 to —20 deg
© 5 .0008 [-61-20C ta 20 deg
2 20 to 35 deq

= —— 65 to 0 deg
= &0 to 90 deq
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0,0002 - . . , : :
D500 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



MNZCE vimr [pprmy] far pressure 19.0 hPa

08030
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B 0.0020 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o o015 [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
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D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
LTS [ : : :

25x1074
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2.0x10 H—+—00 ta —E0 deg

=+ —B0 to —65 deg
—G3 to —20 deg

[E1—Z0 to 20 deg
20 to 35 deq

—ES to 30 deq
B0 to 90 deg
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o . - . - .
D500 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa
R5x107 ; : :

TR [y gl SEEE = EERREEERREEECAPERELEE
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el n kg [+l CEEERCLEEERLLE S TEEEEEEEEE r ---------------------- ﬁg"ﬁ-— ------------------------ .- ------------------ / | 2 EPPrpe oo et FEI-20 1 20 deg
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Timz [atart of day]




Caily averaga [eea titla]

251070
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CCL4 wmr [pprov] for pressure 19.0 hPa
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—G3 to —20 deg
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—ES to 30 deq
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0
—50x 107 - . . , . ,
D10, 00 O 00,010 D000, 00 EEATRAL (000, 00 000,00 00 (0, 0
3712 5006 14,701 f2007 26,01 /2007 10,703 /2007 25/02 /2007 12 /0373007 27 03 /2007

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa
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K3 —B5 to —20 deg
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E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa
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= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
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2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :
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Timz [atart of day]



Caily averaga [eea titla]

20107

1.5x1074

F22 vinr [ppmyv] faor pressure 10.0 hPa

H—+—00 to —E0 deg
101074 [ —B0 to —BS deg
—G3 to —20 deg
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20 to 35 deq
—ES to 30 deq
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571275006 11,/01 /2007 26,01 /2007 10 /08 /2007 25 /02 f2007 12 /032007 27 F03 /2007

Timz [atart of day]




Temperdture [K] for pressure

1.0 hFa

2040 '
[+ e Ty

TRQ oo eeeeeens s R v o5 ¥

2?.:. ............................ ;. ........................... :. .............................................

1, %
260 g g I oo B e R ETECE L fraseqrasaensass

Caily averaga [=== title]

.........................

?%grﬁd """"""""""""""" "1 B—~+—92 ta —&D deg

4= —BC to —BS deg

—G3 to —20 deg
[E1—-2C to 20 deg

i - : : 20 to 65 deg

J[ IEI o : *\\M i | 8BS to 30 deg

T I i B0 to 00 deg
..................... [ T .....-........:...-..-.....-..-.....-..-.|I..J:.-..-..... .-..-.....-..-...E..-.. .'Ff‘:._.-.. :
250 TR i i K :
) Xj B i i
ZE T Lt T B e T R PR PR rmohe
230 ; : : - : .

D0:00,00 04:00,00 ;00,00 00:00.00 0000, 00 0050000 00: 00,00
2712 5006 11,701 /2007 26701 /3007 10700 /3007 25,/ 02 /2007 12 /0372007 o7 F03 /2007

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa

a2

=
E —+—00 ta —E0 deg
PR [ —B0 to —B5 deg
o —B5 to —20 deg
o [F-E1—20C ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= & &0 to 90 deq
&

A4

42 - : - : - .

00z 00,00 00; 00,00 Q0000 000000 Q000,00 000,00 00 00,00
57 2 006 11,/01 /2007 26,01,/ 2007 10,02 /2007 28 ,/02 2007 12 /03 /2007 27 f03 /2007

Timz [atart of day]




B.2

B

o
in

HZC winr [pprmv] for pressure 1.0 hP4d

L

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
»
K3 —B5 to —20 deg
T 7o [E1—-2C to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 6.5

B.O

oo : : : ; : :

D050, 00 00: 00,00 D000 Q000,00 Q00,00 O0:00.00 000,00
27712 /5006 11,01 /2007 26/01,/2007 10,02/ 2007 25402 /2007 12,/03 /2007 57 /03,2007

Timz [atart of day]




4.3

4.0

™
tn

™
[

Daily averaga [=as title]

2.5

2.0

Q3 wmr [ppmy] for pressure 1.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
o7 FO3 2007



HNOZ wrr [pprov] for pressure 1.0 hPa
00012 ; ; ;

e b Rt -------------------- oo ----------------------------

| |

00008 |---smmmmesmssme s breeennnre s [ FTTTTenreneeseeseosessessdesssss s 1 F—+—oC ta —E0 deg
: ! : ' : D | [%—80 ta —B& deg
: : . ; ; : —G3 to —20 deg
0000 [---mereeemeemeeeeacl R‘ ---------------------------- S S U S doreeeeeeeeeeeeeeeeeenn ] [FEI-20 t2 20 deg
: : ' : ' 20 to 35 deq
—ES to 30 deq
&0 to 00 deg

Daily averaga [=ss title

00004 [-remsemsemsemsennnnens j -------- Rg;—af e froresrenensn

00002

00000

D500 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]




0.7

CH4 winr [ppmy] for pressure 1.0 hPd

0.&

=
£n

=
=

Daily averaga [=as title]

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

=
fa
T

0.0

VR B LT A SO, o e 3’99‘5-}{'3{4 = 13%%%{ ..... i ............................. ............................ oo

D500
57 12 006

(00,40 00,00 (006,50 (00, 00
11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007

Timz [atart of day]

00,15
12,703 /50097

O 00,0
o7 FO3 2007




Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd

0,020

o015

C.0a

o —

;’:&_,_,

L ST e R e \(‘& ------------------ f

O G20

Qs 00,00

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq
—1FS to 820 deg
&0 to 90 deg
_,__c_:-é- : : H .
ﬂmaéﬁﬁxﬁﬁﬁ%%ﬁ%ﬁ%%%%wm |
Q000,08 000,00 Q000,00 Q0500050 00: 00,00
26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

57 12 006

11,781 /2007

Timz [atart of day]




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0.0007
0.G006E
0.000%
[——00 to —&0 deg
% —B0 to —B5 deg
00004 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
02005 —FES to 80 deq
&0 to 90 deg
0.o002
00,2001
00000 i : : : : .
D000 00 000,00 Q000,00 Q000,50 a:00, 00 000,00 A 00,00
27275008 11,01 /2007 26,/01 /2007 10,02 /2007 25/02 /2007 12/03,/ 2007 27 032007

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

o018
o014
0.012
a0 ta —E0 deg
0.010 % —B0 to —65 deg
—G3 to —20 deg
0.008 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
.00 80 to 80 deg
o004
£.002
0,005 - : . : , :
D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
27 /1275006 11701 /2007 26/01 /3007 10,02, 2007 25,/02 /2007 1270372007 27 F03 /2007

Timz [atart of day]



1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

F11 wmr [pprmyv] for pressure 1.0 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




CLNO vmr [pprmy] for pressure 1.0 hPa
0.0012 : 5 :

O

0.0010
= 0.0008¢ [—+—00 ta —B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 ao0e [3-E1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,000 - . . , : :

D050, 00 00: 00,00 D000 Q000,00 Q00,00 O0:00.00 000,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



Daily averaga [=se titls]

NZOE vimr [pprmw] far pressure 1.0 hPa

0.0009
00008
0.0007
H+—+—90 ta —EB0 deg
0.0008 | % —B0 to —65 deg
—G3 to —20 deg
0.0005 | [5-E1—-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0004 E0 to 90 deq
00003
0.0002
0.0001 ; : : . : :
Oz 30LCD Qi 00,00 AN Q00050 Q000,00 Q00000 0 00,00
7 12 S E006 11,/01 /2007 265,/01 /2007 10,05 /2007 25/02 f2007 12 /03 /2007 27 f03 /2007

Timz [atart of day]



1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

F12 wmr [pprmyv] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




Caily averaga [=== title]

COFZ wrr [ppriv] for pressure 1.0 hPa

0.0005

0.c004

U |I;}DD-3' ............................ ;, ..................

G | f—+—90 ta —EO deg

02002 EI'EEM EI#F

00007 F-peeee e .; ............................ R i ............................ i ............................ N L.

02000

4= —BC to —BS deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

SO0 | -. ............................ : ............................ - ............................. : ............................ .l ............................ : .

—0.0002

D500 (00,40
57 12 006 11,781 /2007

00,00 (006,50
26,401,/ 2007 10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
o7 FO3 2007




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

CCL4 wmr [pprov] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

HCM wrar [pprmv] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

F14 wmr [pprmyv] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
57 12 006

F22 vmr [pprmyv] for pressure 1.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,781 /2007

AN 000000 005, a0

26,/01 /2007 10,02 /2007 25/02 /2007
Timz [atart of day]

12,703 /50097 o7 FO3 2007




Temperdature [K] for pressure ©.1 hPa

260

210

BE b e i ............................. R R ,E ............................ .i ............................ i ............................ é.

:

Caily averaga [=== title]
7
B
3
:f:
{
s
i

B3 b S S — A - Mt S— s

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

00,00 (006,50 (00, 00 00,15
26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097

Timz [atart of day]

O 00,0
o7 FO3 2007




Tangent altitude [km] for pressure 0.1 hPa

Fis

58
B (90 to —50 deg
e B0 ta —65 deg
o —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= &4 &0 to 90 deq
A

62

18 : ; : : : :

D0z 00L00 000,00 D0:C000 00:00,00 Q000,00 Q000,00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007

Timz [atart of day]




Ln 1]

Caily cverage [see title]

+

HZC winr [pprmv] for pressure 0.1 hP4d

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

0,00 Qs 00,00 AN 000000 005, a0 0000 ;00,00

0
57 12 006 11,781 /2007 26,401,/ 2007 10,7635 /2007 25 /12 F2007 12,703 /50097 o7 FO3 2007

Timz [atart of day]



Q3 wmr [ppmy] for pressure C.1 hPd

1.6

1.4

1.2
¥ H—+—00 to —E80 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
= 0.8 —— 65 to 0 deg
= &0 to 90 deq
&

0.8

0.4 b

.2 : : : - , .

D050, 00 00: 00,00 D000 Q000,00 Q00,00 O0:00.00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007

Timz [atart of day]




CH4 winr [ppmy] for pressure ©.1 hPd

0.25

020

0,15

Cally cwverage [see titla]

0.0%

(ANALH

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
57 12 006

(00,40
11,781 /2007

00,00
26,401,/ 2007

(006,50
10,7635 /2007

Timz [atart of day]

(00, 00
25 /12 F2007

00,15
12,703 /50097

O 00,0
o7 FO3 2007



MNOZ wrar, sun elevs==0 [ppmy] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 0.1 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN 000000 005, a0 0000 ;00,00
57 /10 /5006 11781 f2007 26 ,/01 /2007 10,/02 /2007 25 /02 /2007 12 /03,2007 o7 /03,2007

Timz [atart of day]



F11 wmr [pprmyv] for pressure 2.1 hPa

Timz [atart of day]

.0 , : :
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




CLNO vwmr [pprmy] for pressure ©.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




NZOE vimr [pprmw] far pressure 9.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




F12 wmr [pprmyv] for pressure 2.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




COFZ wer [ppriv] for pressure 0.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




CCL4 wmr [pprov] for pressure 9.1 hPa

Timz [atart of day]

.0 ; . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




HCM wrar [pprmv] for pressure 0.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




F14 wmr [pprmyv] for pressure 2.1 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
iR : : - .
D000 Q000,00 000000 (000, 00 000,00
57 /18 FEnns 11,701 /2007 26,701 /2007 10,08 /2007 25 /07 /2007 18 /0373007 o7 F03 /3007




F22 wmr [pprmyv] for pressure 0.1 hPg

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
E) § : a0 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
= 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
20 OSSO SO S SO U N | B ta 80 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
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